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1. �

A =

(
0 0

0 −1

)
∈ SM2(R).

O� A ���^SÌfª¿�½ A �a.(��½!�½!�K½!K½!Ø½).

2. éÑ¤k� λ, µ ∈ R ¦�Ý


A =


1 λ λ

λ 1 λ

λ λ 1

 , B =


1 1 µ

1 µ 1

µ 1 1


´�½�.

3. � A ∈ SMn(R) ´��½�.

(i) y²: det(A) ≥ 0

(ii) � B ´ A¥ i1, . . . , ik 1Ú i1, . . . , ik ��¤� k �fÝ
,Ù¥ 1 ≤ i1 < · · · <
ik ≤ n. y²: B ´��½�.

4. � V ¢ê�þk���5�m, q ´ V þ�g.. ��3 u,v ∈ V ¦� q(u) > 0

Ú q(v) < 0. y²: �3 w ∈ V \ {0} ¦� q(w) = 0, � q ´÷�.

5. � A ∈ SMn(R). y²: �3 δ > 0 ¦�� ε ∈ (−δ, δ) �, E + εA �½.
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